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Solution: If you read the instructions I provided in last week’s email, hopefully 
you noticed a couple of things pretty quickly. First, the word "long" was used 4 
times, and it didn't exactly blend in well. So, there's a break in standard crossword 
conventions. Next, all of these answers with "long" were vertical. Vertical themed 
answers are rare, so that's another clue. The title was "Lines of Reasoning" and 
the answer was a place on Earth, so hopefully you realized that "long" in this case 
represented lines of Longitude, which explains why those answers were vertical. 
And, once you established that, hopefully it was a quick realization that there 
must also be lines of Latitude, and to match the "long" answers, you were simply 
looking for "lat" hidden in across answers. After that, you're looking for the 
intersection of the Lat and Long words, because the intersection of Latitude and 
Longitude is a common way to define or identify a place on Earth. Those four 
letters at the intersections were IIJF, and when unscrambled, spell FIJI, the 
solution to the meta. 


